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ÍÛæ̃ Û¶ÛÛ :   (1) ¼ÛµÛÛ ¸ÛóÊ¶ÛÛé ºõÁõÜ›÷ýÛÛ©Û ™öé. 
Instructions :  All questions are compulsory. 

    (2) ›÷¾Û¨Ûà ¼ÛÛ›ä÷¶ÛÛ …×ïõ •Ûä̈ Û þùÉÛÛÙÈÛé ™öé. 
     Figures to the right indicate marks. 

 

1. (A) …ÛÜ¬ÛÙïõ ÜÈÛïõÛÍÛ …¶Ûé …ÛÜ¬ÛÙïõ ÈÛèÜ±ù ÈÛ˜˜Ûé¶ÛÛé ©ÛºõÛÈÛ©Û ˜Û˜ÛÛë. 6 
  Discuss the difference between Economic growth and Economic development. 

…¬ÛÈÛÛ/OR 
  …ÛÜ¬ÛÙïõ ÈÛèÜ±ù …é¤øÅÛé ÉÛä× ? …ÛÜ¬ÛÙïõ ÈÛèÜ±ù¶ÛÛé ”ýÛÛÅÛ ˜Û˜ÛÛë. 
   What is Economic growth ? Explain the concept of Economic growth. 

 (B) ÁõÛÌ¤ÖøàýÛ …¶Ûé ¾ÛÛ¬ÛÛþùà¥ø …ÛÈÛïõ¶ÛÛ …ÛÜ¬ÛÙïõ ÜÈÛïõÛÍÛ¶ÛÛ ¾ÛÛ¸Ûþ×ù¦øÛé ˜Û˜ÛÛë. 4 
   Explain the indicators of economic development of National income and per 

capita income. 

…¬ÛÈÛÛ/OR 
  ¶ÛÛêµÛ ÅÛ”ÛÛé : œ÷ÈÛ¶Û¶Ûà ½ÛÛíéÜ©Ûïõ •Ûä̈ ÛÈÛ«ÛÛ¶ÛÛé …Û×ïõ (PQLI). 
  Write a short note : Physical quality of life index (PQLI). 

 (C) ¾ÛÛ¶ÛÈÛ ÜÈÛïõÛÍÛ …Û×ïõ (HDI)¶ÛÛé ”ýÛÛÅÛ ˜Û˜ÛÛë. 4 
  Discuss the concept of Human Development Index (HDI). 

…¬ÛÈÛÛ/OR 
  ¶ÛÛêµÛ ÅÛ”ÛÛé : ¾ÛÛ¶ÛÈÛ •ÛÁõà¼Ûà …Û×ïõ (HPI). 
   Write a short note on Human Poverty Index (HPI). 

 
2. (A) …ÛÜ¬ÛÙïõ ÈÛèÜ±ù¶Ûä× ¸ÛóÛé. ÐéüÁõÛé¦ø¶Ûä× ¾ÛÛé¦éøÅÛ ¤æ×øïõ¾ÛÛ× ˜Û˜ÛÛë. 6 
  Briefly explain  the Prof. Harrods model of economic growth. 

…¬ÛÈÛÛ/OR 
  …ÛÜ¬ÛÙïõ ÜÈÛïõÛÍÛ¶Ûä× ¸ÛóÛé. ÐüÌÛÙ¾Ûé¶Û¶Ûä× ¾ÛÛé¦éøÅÛ ¤æ×øïõ¾ÛÛ× ÍÛ¾Û›ÛÈÛÛé. 
   Briefly explain the Prof. Hirschman’s model of economic development. 

 (B) ¶ÛÛêµÛ ÅÛ”ÛÛé : …ÛÜ¬ÛÙïõ ÈÛèÜ±ù¶Ûä× ¸ÛóÛé. ¦øÛé¾ÛÁõ¶Ûä× ¾ÛÛé¦éøÅÛ. 4 
  Write a short note on The Prof. Domar Model of economic growth. 

…¬ÛÈÛÛ/OR 
  ¶ÛÛêµÛ ÅÛ”ÛÛé : ÍÛ¾Û©ÛÛéÅÛ ÜÈÛïõÛÍÛ¶Ûä× ¾ÛÛé¦éøÅÛ. 
  Write a short note on Balance growth model. 
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 (C) ¸ÛóÛé. ¶ÛïÙõÍÛ¶ÛÛ •ÛÜ½ÛÙ©Û ¼Û˜Û©Û¶ÛÛ ¾ÛÛé¦éøÅÛ¶Ûà ˜Û˜ÛÛÙ ïõÁõÛé. 4 
   Explain the concept of Prof. Nurkse’s Model of Implied Savings. 

…¬ÛÈÛÛ/OR 

  ÍÛ¾Û©ÛÛéÅÛ ÜÈÛïõÛÍÛ …¶Ûé …ÍÛ¾Û©ÛÛéÅÛ ÜÈÛïõÛÍÛ¶ÛÛ ¾ÛÛé¦éøÅÛ ÈÛ˜˜Ûé¶ÛÛé ©ÛºõÛÈÛ©Û ÍÛ¾Û›ÛÈÛÛé. 
   Discuss the difference between Balance growth model and unbalanced growth 

model. 

 
3. (A) •ÛÁõà¼Ûà¶ÛÛ Ü¶ÛþëùÉÛïõÛé ÍÛ¾Û›ÛÈÛÛé. 6 
  Explain the indicators of poverty. 

…¬ÛÈÛÛ/OR 

  •ÛÁõà¼Ûà¶ÛÛ ïõÛÁõ¨ÛÛé ˜Û˜ÛÛë. 
   Discuss the causes of poverty.  

 (B) ÈÛÍ©Ûà ÈÛµÛÛÁõÛ¶Ûà …ÛÜ¬ÛÙïõ ÜÈÛïõÛÍÛ ¸ÛÁõ¶Ûà ïõÛé̂ ¸Û¨Û ¼Ûé …ÍÛÁõÛé ˜Û˜ÛÛë. 4 
  Discuss any two effects of population growth on economic development. 

…¬ÛÈÛÛ/OR 

  ÈÛÍ©Ûà ÍÛ×’õÛ×Ü©Û¶ÛÛé ÜÍÛ±ùÛ×©Û ˜Û˜ÛÛë. 
  Discuss the theory of demographic transition. 

 (C) ¸Ûó̃ ™ö·Û ¼ÛéïõÛÁõà ÜÈÛÌÛé ¶ÛÛêµÛ ÅÛ”ÛÛé. 4 
  Write a short note on disguised unemployment. 

…¬ÛÈÛÛ/OR 

  ¼ÛéÁõÛé›÷•ÛÛÁõà¶Ûà …ÛÜ¬ÛÙïõ …ÍÛÁõÛé ˜Û˜ÛÛë. 
   Explain the economic effects of unemployment.  

 
4. (A) ¤øïõÛŠ ÜÈÛïõÛÍÛ¶ÛÛ ”ýÛÛÅÛ¶Ûà ˜Û˜ÛÛÙ ïõÁõÛé. 6 
  Discuss the concept of sustainable development. 

…¬ÛÈÛÛ/OR 

  ¸ÛóþæùÌÛ¨Û¶ÛÛ ïõÛÁõ¨ÛÛé ÍÛ¾Û›ÛÈÛÛé. 
   Explain the causes of pollution.  

 (B) ¸ÛóþæùÌÛ¨Û¶ÛÛ ¸ÛóïõÛÁõÛé ÜÈÛÌÛé ¶ÛÛêµÛ ÅÛ”ÛÛé. 4 
  Write a short note on types of pollution. 

…¬ÛÈÛÛ/OR 

  ³íéù©ÛÈÛÛþù ÜÈÛÌÛé ¶ÛÛêµÛ ÅÛ”ÛÛé. 
   Write a short note on Dualism. 

 (C) îýÛÛé¤øÛé ¸ÛóÛé¤øÛéïõÛéÅÛ ÜÈÛÌÛé ¶ÛÛêµÛ ÅÛ”ÛÛé. 4 
  Write a short note on Kyoto Protocol. 

…¬ÛÈÛÛ/OR 

  ïõÛ¼ÛÙ¶Û ’éõÜ¦ø¤ø¶ÛÛ ”ýÛÛÅÛ¶Ûà ˜Û˜ÛÛÙ ïõÁõÛé. 
   Discuss the concept of carbon credit.  
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5. ¼ÛÐäüÜÈÛïõÅ¸Û ¸ÛóÊ¶ÛÛé :  14 

 Objective questions :  

 (1) ¶Ûà˜Ûé¶ÛÛ¾ÛÛ×¬Ûà ïõýÛÛé ”ýÛÛÅÛ ÈÛµÛä ÜÈÛÍ©Ûè©Û ™öé ? 

  (a) …ÛÜ¬ÛÙïõ ÜÈÛïõÛÍÛ (b) …ÛÜ¬ÛÙïõ ¸Ûó•ÛÜ©Û 
  (c) …ÛÜ¬ÛÙïõ ÈÛèÜ±ù (d) …ÛÜ¬ÛÙïõ ¸Û™öÛ©Û©ÛÛ 
  Which concept is most broad among the given below ? 

  (a) Economic progress (b) Economic development  

  (c) Economic growth (d) Economic backwardness 

 (2) ¾ÛÛ¶ÛÈÛ ÜÈÛïõÛÍÛ …Û×ïõ (HDI) ïõˆ ÍÛ×Í¬ÛÛ ©ÛíéýÛÛÁõ ïõÁéõ ™öé ?  
  By whom HDI is prepared ? 

  (a) UNDP (b) UNO 

  (c) UNICEF (d) UNESCO 

 (3) ¶Ûà˜Ûé¶ÛÛ¾ÛÛ×¬Ûà ›ÛÜ©ÛÍÛæ̃ Ûïõ …Û×ïõ¾ÛÛ× ïõÛé¶ÛÛé ÍÛ¾ÛÛÈÛéÉÛ ¬ÛÛýÛ ™öé ? 

  (a) GDI (b) GEM 

  (c) GDI …¶Ûé GEM ¼Û·Ûé (d) …Û¾ÛÛ×¶Ûä× ï×õˆ ›÷ ¶ÛÐüá 
  Which is included in gender index ? 

  (a) GDI (b) GEM 

  (c) GDI & GEM both  (d) None of these  
 (4) ¸Ûæ̈ ÛÙ-ÁõÛé›÷•ÛÛÁõà¶Ûà ÍÛ¾Û©ÛäÅÛÛ ›ÛÇÈÛÈÛÛ ¾ÛÛ¤éø ¶Ûà˜Ûé¶ÛÛ¾ÛÛ×¬Ûà ïõˆ ÉÛÁõ©Û¶Ûä× ¸ÛÛÅÛ¶Û ›÷ÄõÁõà ™öé ? 

  Which condition is for full employment equilibrium growth ? 

  (a) G = Gw (b) G = Gn 

  (c) G = Gw = Gn (d) Gw = Gn 

 (5) ¶Ûà˜Ûé¶ÛÛ¾ÛÛ×¬Ûà ¸ÛóÛé. ¦øÛé¾ÛÁõ¶ÛÛ …ÛÜ¬ÛÙïõ ÈÛèÜ±ù¶ÛÛ ¾ÛÛé¦éøÅÛ¶Ûä× ÍÛæªÛ ïõýÛä× ™öé ? 
  Which is the equation of Prof. Domar Model of economic growth ? 

  (a) 
∆I

I
 = aσ (b) 

∆I

I
 = σa 

  (c) 
I

∆I
 = aσ (d) 

∆Y

∆I
 = aσ 

 (6) ïäõþùÁõ©Ûà ÈÛèÜ±ù þùÁõ ¶Ûà˜Ûé¶ÛÛ¾ÛÛ×¬Ûà ïõˆ ÍÛ×ßÛÛ ³ùÛÁõÛ …ÛéÇ”ÛÛýÛ ™öé ? 
  Natural Rate of growth is represented by the symbol  

   (a) G    (b) Gw 

  (c) Gn (d) GG 

 (7) ÍÛ¾Û©ÛÛéÅÛ ÜÈÛïõÛÍÛ …é¤øÅÛé _______ 

  (a) ©Û¾ÛÛ¾Û “ÛéªÛÛé¶ÛÛé ÜÈÛïõÛÍÛ (b) Š²Ûé•Û “ÛéªÛ¶ÛÛé ÜÈÛïõÛÍÛ 
  (c) ÍÛéÈÛÛ “ÛéªÛ¶ÛÛé ÜÈÛïõÛÍÛ (d) ïèõÜÌÛ “ÛéªÛ¶ÛÛé ÜÈÛïõÛÍÛ 
  Balanced growth means balance in ________ 

  (a) all sector (b) industry sector   

  (c) service sector (d) agricultural sector 
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 (8) …ÛýÛÛé›÷¶Û ¸Û×̃ Û ³ùÛÁõÛ •ÛóÛ¾Ûà¨Û ÜÈÛÍ©ÛÛÁõ¾ÛÛ× ïéõÅÛÁõà¶Ûä× ïõýÛä× µÛÛéÁõ¨Û ¶Û‘õà ïõÁéõÅÛ ™öé ? 
  Which standard of calories for rural areas is decided by Planning Commission ? 

  (a) 2000 (b) 2100 

  (c) 2300 (d) 2400 

 (9) ïõýÛÛ þéùÉÛ¾ÛÛ× •ÛÁõà¼Ûà¶ÛÛ ÍÛÛ¸Ûé“Û ”ýÛÛÅÛ¶ÛÛé Š¸ÛýÛÛé•Û ¬ÛÛýÛ ™öé ? 

  (a) ½ÛÛÁõ©Û (b) ¸ÛÛÜïõÍ©ÛÛ¶Û 
  (c) …¾ÛéÜÁõïõÛ (d) ˆœ÷¸©Û 
  In which country the concept of relative poverty is used ? 

  (a) India (b) Pakistan 

  (c) USA (d) Egypt 

 (10) ¶Ûà˜Ûé¶ÛÛ¾ÛÛ×¬Ûà ïõýÛä× ÈÛÌÛÙ ¾ÛÐüÛ¶Û ÈÛÍ©Ûà ÜÈÛ½ÛÛ›÷¶Û ©ÛÁõàïéõ …ÛéÇ”ÛÛýÛ ™öé ? 
  Which year is known as year of great divide of India’s population? 

  (a) 1991 (b) 2001 

  (c) 1921 (d) 1951 

 (11) ¶Ûà˜Ûé¶ÛÛ¾ÛÛ×¬Ûà ïõýÛÛ ¸ÛóïõÛÁõ¶Ûà ¼ÛéïõÛÁõà¶Ûà ÍÛà¾ÛÛ×©Û Š©¸ÛÛþùïõ©ÛÛ ÉÛæ¶ýÛ ™öé ? 

  (a) ˜ÛÜ’õýÛ (b) ¸Ûó̃ ™ö·Û 
  (c) ¾ÛÛéÍÛ¾Ûà (d) –ÛÌÛÙ̈ Û›÷¶ýÛ 
  In which unemployment the marginal productivity is zero ? 

  (a) Cyclical (b) Disguised  

  (c) Seasonal (d) Frictional 

 (12) ïéõ¤øÅÛÛ ¤ø¶Û ïõÛ¼ÛÙ¶Û ¦øÛýÛÛéîÍÛÛˆ¦ø –Û¤øÛ¦øÈÛÛ¬Ûà …éïõ ïõÛ¼ÛÙ¶Û ’éõÜ¦ø¤ø …¸ÛÛýÛ ™öé ? 

  (a) 1 ¤ø¶Û (b) 2 ¤ø¶Û 
  (c) 3 ¤ø¶Û (d) 4 ¤ø¶Û 
  For how many tons of decrease in carbon dioxide, one carbon credit is given ? 

  (a) 1 ton (b) 2 ton 

  (c) 3 ton (d) 4 ton  

 (13) îýÛÛé¤øÛé ¸ÛóÛé¤øÛéïõÛéÅÛ¶ÛÛé …¾ÛÅÛ îýÛÛÁõ¬Ûà ÉÛÄõ ¬ÛýÛÛé ? 

  (a) ¾ÛÛ˜ÛÙ 1994 (b) Ü¦øÍÛé¾¼ÛÁõ 1997 

  (c) …éÜ¸ÛóÅÛ 1998 (d) ¶ÛÈÛé¾¼ÛÁõ 2001 
  From which year, Kyoto Protocol has been implemented ? 

  (a) March 1994 (b) December 1997 

  (c) April 1998 (d) November 2001  

 (14) ¶Ûà˜Ûé¶ÛÛ¾ÛÛ×¬Ûà ïõýÛä ¸ÛóþæùÌÛ¨Û ¾ÛÛ¶ÛÈÛÍÛÜ›÷Ù©Û ¶Û¬Ûà ? 

  (a) ÍÛ¾Ûä®ùà ¸ÛóþæùÌÛ¨Û (b) þùÛÈÛÛ¶ÛÇ 

  (c) ÁéõÜ¦øýÛÛé …éî¤øàÈÛ ¸ÛóþæùÌÛ¨Û (d) ¬Û¾ÛÙÅÛ ¸ÛóþæùÌÛ¨Û 
  Which of the following pollution is not man-made ? 

  (a) Marine pollution (b) Volcano 

  (c) Radioactive pollution (d) Thermal pollution  

____________ 


